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QUIZ-01

1. 519 gH fooet ag bl oA & e fai 3a1d 8, dr efd ar

ERT &fdsT & G B AT BT ITare?
A. 3aITE BIoT B. 3¢ 10T
C. 8fdst droT D. dielad dIuT (B)

SJT&T: ST €8 3T &fdsT § W &ldt &, di I8 BIoT
3¢ BIUT BedTdl Bl
2. ST BT 3R MR ST &1 dl 318 S1Td B & [AC P

1 A oAt 3aTd 9PT fam sirar 8?2
A.sin B. tan
C. cos D. cot (B)

7T : 519 BYVT AR 3MMEMR STl &Y, Y 3578 = 3TEMR x tan
0 gRT STTd 1 5iTdl 2|
3. IfEPIT60° 2 3R MR 15 Hic 8, dT HIAR 6t 2T
CRUGHIE
A.10~/3 B.15+/3 Ht
C.20\/3 D. 30 Ht (B)
SITET: tan 60° = /3 = HTS/3TER — HaTS = 151/3 T
4. Ife HSt A & 60° BT PIUT AT & 3R 3518 3.7 Hiex
8, dY 396! daTs T grit?

A.35Ht B. 428 Ht

C.45H D. 5 Ht (B)
&T&gT: sin 60° = 3.7/&1Et — It &l #dTS = 3.7/sin 60°

= 428 HI (¢ TH) |

5. 579 a¥q &fds1 TR & A el & A P AT PIUTIdT 8?2
A.90° B.O°
C. 3{gdTcd BIuT D. 3¢/ BIuT ©
7R 514 axq fdsT & A1 grdt & al 51 BIvT g9aT e,

IE 37IHTGH DIVl hedldl &l

6. Ifc fam-t &1 HYoT 45° 8 3R gt 28 5 Hiex &, Y Foaré

(G2 Y Harg 1.5 Hier) R Evft?
A. 26 Ht B.28.5 Ht
C.30 #t D.31H! (@

STET: tan 45° =1 — B HdT = 285 + 15 = 30 H|
7. 516 39S 3R PITSTIA &l dY cotangent A gl sTTd &34
& fee P ar gy yaT fearsmara?
A. cot 8 = 3TTUR/3aTs
B. cot 8 = 3aTS/3MMER
C. cot O = BUf/3TER
D. cot 0 = 3TeR/P0f
T cot § = base/height gldT &, 511 fdudtd 3R
TfAdse Y3131l &bl 31 uTd 2|
8. ST 37qYTCT 10T 30° &Y 3R MR S1Td &) d Hais siTd
B BT I FTEPTT?
A. tan 30° = 3aT/3MER
B. cot 30° = TUR/3HaTE
C. tan 30° = TUR/HTE
D. cot 30° = HaTd/3MER (A)
ST&T: tan 30° = HaTS/HTUR BT 39TV 3aTS STTd B
CAREARRIEIGIE
9. TS et bl 35aims 3 Hie 8 3R 31T PIoT 30° T

(A)

45° €, dl It bl FISTs NI

A.3H B. 6 Ht

C.3(1+/3) Ht D.3/2 Ht (@
&7egT: THId & 3ITAR, AB= AD + DB=3+3,/3 =

3(1++/3) I
10. fop fEfa & 3116 BI0T BT 1T fbgT STTaTe?

A. 59 T HaTE W&

B. 518 &R 31T & TR R &

C.5Tq a¥d A &1

D. &TH § BIg Tt ©)

PIUT 9T &




